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(Honours Generic)
- Answer the Questions from any one Option.
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Paper : COM-HG-2016
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Time : Three hours
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full marks for the questions.
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Contd.



BIKALI COLLEGE LIBRARY

OPTION-A
( Macroeconomics )
Paper : COM-HG-2016

1. Answer the following questions as directed :
- 1x10=10

(a) What is comparative static economic
analysis ?

eI 33 Stafes Rosad & 2

(b) Define effective demand.
s iR e i
(c) | What is meant by aggfegéte supply ?
AT @e e B g '?{ |
(d) Name the author of 'thé book, The .

General Theory of Employment, Interest
and Money.

The General Theory of Employment, -
Interest and Money J%I= Cﬁ?l?ﬁ‘ﬁﬂ? A
ferr | |
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(e) What is the shape of long-run aggregate
supply curve ?

WWNWWWW-
2J ?

() What ‘does a vertical IS curve mean ?

quiE TTF 1S @R 75 3o ¢

(g) State the condition of equilibrilim-' in
' the goods market. ‘

TR ISR SIRARTOR 59 T A1
(h) What is the most commox;l_ method of

measuring inflation ?

qm@%mwﬁ%m«qmﬁw

(i) - The value of money and the price level
are related inversely/directly.
~ (Choose the correct answer)

WWWWWW ReTroxl/
YN (9% TG IR Bfrear)

‘() -* What is meant by rnarginal propensity
to consume ?

afes coml mﬁqﬁmﬁsw?
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2. Answer the following questions: 2x35=10

(a) Why does the aggregate demand curve

slope downward ?

AT vz @reE Joa FEgd =3 e

(b) State two limitations of the IS-LM

model.

IS-LM SC&e YOI HNae! S 1 |

() What is social cost of inflation ?

TR A @ WA & e

(d) Distinguish between fixed exchange rate

and flexible exchange rate.

N TYSA |

(e) Distinguish between induced investment

and autonomous mvestment

ﬂﬁﬁmﬁmmﬁaﬁﬁmﬂamm%}
G
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~ Answer any four of the following questions :

S5x4=20

@a—ﬁmwﬁ@mwﬁmwm

(@)

)

- (d)

(d)

Explain the national income identity
using circular flow of income in a three-
sector economy.

oRtI-vege wdNifce oIER 5 a1 TIT
IR QG SER AT G [

How is the LM curve affected by the
change in the supply of money ?
Explain with a diagram. ]

TR @IS ARSI 7[Rl LM (@rer /s
greiffe = 2 foar QTS Y T |

What is marginal efficiency of capital ? |
State the determinants of marginal
efficiency.of capital. -

e eifes Frdrwel [ o2 e Al
Ffrror Fdeengz S ¥ .

Explain the trade-off between inflation _
and unemployment.

RIS SR PRI e ~AT{{s o1
Sail
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_(e) Explain the cost-push theory of
inflation. '

%&WW@WWW@I

() Briefly explain the arguments in favour
of flexible exchange rate system.

T R 2 392’ F90F L LSTR YT
[

4. Answer the following questions: 10x4=40
weTe fadl erTyR el Tl

(@) Discuss the determination  of

equilibrium rate of interest and level of

income with the help of IS-LM curve
analysis.

IS-LM &3 Reaed 72es Sy e 29
WS SISy SE RdiRd e 01

Or/ 92l

- Discuss ‘how income and the interest
rate are affected by an increase in
 government spending and an increase
in taxes, using the IS-LM curve model.
5+5=10
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53Kl I Ja O ] IR T W R
R P PR FOIS 7, 1S-LM (@1ifba]
FRTS G A1 -

(b) Exi:lain the nature of demahd-puli .
inflation. What measures would you
suggest to control such inflation?
| 5+5=10
siftniTe JEreites oFfe . T 1 @
TErGife Fages iR o & 39 SRt 2

Or/ <t

" Discuss the effects. of inflation on

- production and distribution. 5+5=10.
‘Sj&1“5|f=?\9 @'Q"m—ft < BICERE \S‘Pﬁ_. S [l

| ASRPTIR I 1 |
(c) Explain Mundell-Fleming model with

flexible exchange rates. :
TR R 2w GTes eeA-cefi Rigw gt
1| | -
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o Or/ Iy

Discuss the derivation of the IS curve
from the goods market in an open
economy with suitable diagram.

T& LIS A1 IS IS ([ (FEWE
e T = o e

(d) What is meant 'by investment function ?
' Discuss the factors which affect the
- level of investment. N 2+8=10

et zem Fferet & gam ¢ R @3
ASIA CAITETIRN BAMIATZ ST T |

Or/ H<t

Explain Keynesian theory of demand
for money. Write how it is superior to
' the traditional quantity theory of
money. , , - - 7+3=10

(2R SRER! JR HIRA SGCs! iy 3 |
SIS JEF AR OGS 2 (PR GeF3
et | -
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OPTION-B
(Insurance and Risk Management)
Paper : COM-HG-2026

. Choose the most appropriate answer for the
following questions : 1x10=10

Wﬁmm@%www'ﬁem°

(a) Wh1ch of the following is not an
objective of loss control ?

RS (@G e FageR Sl T2
(i) Loss prevention |
= oo
(i) Loss reduction
o ZeRI
(iii) Loss retention
g9
None of the above
89Fq qble N

(b) Which of the following is 'an ex&imple of
systematic risk ? :

O (IOl AR T TN BRI ?
(i) Inflationary risk
AP IfoGS oI

4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 9 . Contd.



BIKALI COLLEGE LIBRARY

- (i) Interest rate risk

TR FIA HoH

(i) Foreign exchange risk

e RiFvar =foxi

Aiv) All of the above
| \@oiT SIBIRI
(c) Total number of wholetime directors in
IRDAI is |
[RDAI © BTN I 'wm
() 4 (8 TA)
(i) 5 (¢ &)
(i) 7 (2 =)
L(iv) 10 (30 TW)
(d) IRDAI was established in the fear'
" IRDAI R NS FelN <[ R 2
(i) 1995 (>>5¢ 59)
i) 1999 (Svdd HFS)
(iii) 2000 (2000 HTS)
(iv) 2001 (X005 5F®)
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(e} Which of the following entities are
regulated by IRDAI ?

e @RrE afson IRDAHW IGEIF)

%7 9

() General insurance companies
AR A A

(i1) Re-insurance companieé
SR A

(i) Insurance intermediaries
M-I
-(iv) All of the above
@I AGIFILD! |
(f) Accepting two or more insurance in

respect of the same subject matter and
from the same insurer is called

2 amﬁ@m@ﬂmﬁawmmew -

73 1 wrelfds Nt A% IR o & I @i

7Y ? .
(i) re-insurance

/(ii) double insurance

o
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(iti) Co-insurance
S
(iv) None of the above

@AY QB8 24

(g9 The main function of actuary is
management of risk and uncertainly.
The statement is

wﬁwwmmw\m
YN FOJ] | SGO!

(1) True (ea)
(i) False (T¢a)

(h) “Life insurance contract is a contract
of indemnity.” The statement is

‘Fﬁaﬁm pe R ’ﬂloﬁ‘w §% ” AFCOH
(i) True (u%)
(ii) False (Sm)

(i) “Fire insurance is a contract of
uberrimae fidei.” The statement is

“TRI GBI G TR §fE 17 100!
(i): True (3%2) '
(i) False (T€m) .
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() - “Hull insurance is the main subject
matter of life insurance contract.” The
statement 1s

() True (¥7) .

(ii) False (T87)

2. Give brief answer to the following-questions :
2%x5=10

woTe fral eritaid by T wal 8
(a) Explain the concept of risk. ~
(< AREICH! I 1| |

' (b) State any two differences between fire
insurance and marine insurance.

IGEI ICIES @%mww ﬁmzﬁ‘r
A1 Trmd [/

‘(c) State two objectives of re-insurance.

ST 757 Brwely |

(d) What is meant by insurable interest ?
Srcaion =i e B gom
(e) State two advantages of insurance.

AR 7o AR TrEd [
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3 Answer any four questions from the
following in about 150 words each :

. 5x4=20
O] [z BIfI5! 2t ATSIRR AT SEob! T = -
foog® Te] foral ¢ '

(a) Explain the concepts of systematic and
unsystematic risk with suitable

examples. o |
ToATE TUZROAR AT % ST
xR I SICGR |

(b) State the differences between co-
insurance and re-insurance:.

S WP AN ANLHERR |
() Write a short note on insurance
ombudsman.

AT-CITAIER 8oF® @51 53 (It 7Tl |

(d) Explain the main features of life
insurance. |

B TR A4 @RI I [ |

(e) Write a detailed note on different types
of motor vehicle insurance policies.

Rfen aorRe (@5 NS «ifEbivm Raw
I I [ |- .
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(/) What are the conditions of indemnity
under a contract of insurance ? Explain.

<51 TR RS TR FETZ I 1 |

4. Answer any four of the following questions
in about 600 words each : 10x4=40

AR enprER Rzt 515 e eifetE voo
T =1 foose Tex ot ‘

(a) What is meant by risk management? )
Elaborately discuss the risk
management process. 2+8=10

FoxaR et I [ Iz 2 =wioxi
ARBIEHIT ATFAICE! IZET2 Al 1 |

(b) Explain in detail the essentials of a valid
insurance contract.
34 R pfER TPGRT TAMFTIR I3 I
|

(c) ‘What are different types of insﬁrance ?
Write a detailed note on (i) fire and
(ii) marine insurance. 4+(3+3)=10
o goe T B & 2 ) ofF I, ==
(i) (TR @77 ot Rgo (Gt ol
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(d) Discuss the regulatory framework-of
‘insurance sector in India.

TS ANAGT FageR I SN0l 4 |

(e) Explain the impact of globalisation on
Indian insurance sector.
SRSITS TS S9FTS (AR TFIN O]
P 1| ‘
(f/ Discuss the steps taken by IRDAI for

protecting the interest of policy holders.
10

ﬁ%fﬁqm: TR maf RS FECET IRDALG
ST Y AMCFITIR Sl /A1 |

(g0 What is meant by measurement of
risk ? Explain in detail about different’

methods used for measurement of risk. -
- 248=10-

WQWNTW‘TW%W > T
TAFRNR S JaTe RS 2w Orig SigEnat
T |

(h) Discuss the importance of insurance
in our day-to-day life.

WW@WW%@WWI
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